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Draw a slope field for each of the following differential equations.
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Match each slope field with the equation that the slope filed could represent.
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Match the slope fields with their differential equations.
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23. The slope field represents the differential equation % = Xy . The solution curve through
X

the points (0, 1) is also shown.
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a. Sketch the solution curve through the point (0, 2). Find the equation of this
solution curve.

b. Sketch the solution curve through the point (0, —1)

24. The slope field for the differential equation % =X+ Yy isshown.
X

a. Sketch the solution curve through (0, 1).

b. Sketch the solution curve through (-3, 0).



Draw a slope field for each of the following differential equations.
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Match each slope field with the equation that the slope filed could represent.

-

T ROT

~(F% | F4 | FEx| Fa= [Fe-{FB
o TEID{ Rk 3rar hMath{ieaw(Fenfic I

;
Il
T
ll
A

S

— L
- e ]

— =5
N |

A
— s
- ,~“" )_,» J‘ .I' J‘
-

13

(Fiv [ Few F4_ | FEx| F&= |Fr~{F8 | i Fer | FE~ [ F&v [Fe-{FB |

T arar-h|Hath «nilic 2o 3 *enfIc
— i — = oS E s
e e e N LS S WA A S S A
e, B [ — — EE R A N ) AP S

S P PR R

oy Ea iy
e e W e S A A P VP A A S
—— e N e — VAV A AN AP VAV AV AV A A e
— e W e e PP A VA S
RN FRD ALTI [13 RN FRD AUT (3

e : | S St '
7. y=1 t:fu D ll.y:x—2 ﬁi' I A

8. y=x y=t " 12. y=sinx L/;}\‘:OOS“X =

9. y=x’ '/’\alx C 13. y=cosx L’S;“SW\’X %
, ; a

L/-\':L:x x 14. y=Injx Y vé e
¢ (




AP Calculus BC
Section 6.1 — Slope Fields (pdf)

Match the slope fields with their differential equations.
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23. The slope field represents the differential equation g)i = xy. The solution curve through
X

the points (0, 1) is also shown.

a. Sketch the solution curve through the point (0, 2). Find the equation of this
solution curve.
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b. Sketch the solution curve through the point (0, —1)

24. The slope field for the differential equation gy— = x+ y 1s shown.
X

a. Sketch the solution curve through (0, 1).

b. Sketch the solution curve through (-3, 0).
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